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SECTIONA
Answer ALL questions in this section.

Questions must be answered with a cross in a box [X. If you change your mind about an
answer, put a line through the box $¢ and then mark your new answer with a cross [X.

Mongolia experiences higher unemployment in the winter when the demand for
agricultural labour is lower than in the summer months.

Which one of the following best describes the cause of unemployment experienced
in Mongolia?

[] A Seasonal unemployment
[1 B Real wage inflexibility

[] € Structural unemployment
[ D Demand deficiency

(Total for Question 1 = 1 mark)

The table shows the number of people in employment in Jordan.

Number of people
in employment

January 2017 10 279 000
January 2018 9353 000

(Source: https://tradingeconomics.com/jordan/employed-persons)

What is the percentage change in the number of people in employment between
January 2017 and January 20187

L] A -10%
] B -9%
] ¢ 9%
] D 10%

(Total for Question 2 = 1 mark)
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3 In 2017 Uzbekistan experienced an 8% increase in real GDP.
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Which one of the following is most likely to be a benefit of economic growth?
[J A Environmental damage

Improved public services

1 B
[J € Anegative output gap
[ D Adecreasein tax revenues

(Total for Question 3 = 1 mark)
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4 The diagram shows a shift in the aggregate demand curve for an economy.
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< Which of the following combinations was the most likely cause of the change from
5 AD to AD,?
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(Total for Question 4 = 1 mark)
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s

5 The Ethiopian Government has made significant investments in the agricultural

sector and has plans to allocate a further US$15 billion to irrigation development by
2020. The UK Government paid a subsidy for a windfarm. Which one of the following
is also an interventionist supply-side policy?

[] A Deregulation of the labour market
[J] B Privatisation
[J € Areduction in interest rates
[ D Regional policy
(Total for Question 5 = 1 mark)
The chart shows the UK balance of trade on current account, month on month,
May 2017 to May 2018 (£ billion, seasonally adjusted).
15
10
5
fbn 0
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-15 | | | | | | | | | | | | |
May Jun Jul Aug Sep Oct Nov Dec Jan Feb Mar Apr May
2017 2017 2017 2017 2017 2017 2017 2017 2018 2018 2018 2018 2018
® Trade in goods balance = Trade in services balance — Total trade balance
(Source: https://www.ons.gov.uk/economy/nationalaccounts/
balanceofpayments/bulletins/uktrade/may2018)
What can be deduced from this chart?
[] A The trade in services balance was in deficit in May 2017
[] B The trade in goods deficit was smallest in February 2018
[J € The value of exports exceeded the value of imports in September 2017
[ D The total UK trade deficit was the largest in November 2017
(Total for Question 6 = 1 mark)
TOTAL FOR SECTION A = 6 MARKS
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SECTIONB
Answer ALL questions in this section in the space provided.
7 Net migration in Lithuania fell from 1.4% of the population in 2003 to -6.1% in 2017.

Explain one possible effect of this change in net migration on Lithuania’s long-run
aggregate supply.

25

%

KR
¢&aﬁﬁ%‘ X
SR tototetetetst

K5
L8555

O
RIS
SRR
X8
20!
IREEE

<
35S
X
<535
S8
K8

0>
RS
bore%s

X8
o2
5

QOO
SRELRS
X
<50
5
K

N
RS
d000%0,

S

LR

KRS

%
%
.tz
N
é’

S0ER:

f }\:f
ERLAIKL,
ZRRRK

2
9

o0
?
92

%

h%eete
3
%o

ORAARAKAARAK KA

XEAEIQRRAR

X

OGNS
DEsssesnssistetetootets
dosateSetetetetetetesstetets
QELRLISLELLE
SRS
XX

K&
25555

S
KRR
S

%

<
5
Sosete
o
<5
<5

00
CRERKS

K

deSetedes

QEEREIEL
IS

%
<
X

R

5
Stelodetets!
CRLLRZRRKS

9%

<
ptots’

b

Q0
<535
XK
S,

<5
b

XX

?’
Qf
<

CRREIRRLS
Qg%%%ﬁﬂaf

d%fé&?Qo

RIS

byt
5

LRLRLRRRRIRSS,

RIS
JoloSesesatasosetotes
OKLELRKLLK

(Total for Question 7 = 4 marks)
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8 The chart shows the annual change in consumer prices in Turkey for the period
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August 2013 to August 2018.
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(Source: https://tradingeconomics.com/turkey/consumer-price-index-cpi) <

With reference to the chart, explain the difference between inflation and disinflation.

(Total for Question 8 = 4 marks)
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9 In the USA real incomes increased by 1.8% in the year to September 2018.
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Explain one possible impact of increased real incomes on the USA’s net trade balance.
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(Total for Question 9 = 4 marks)
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s

10 Turkey’s central bank increased its base interest rate from 12.75% in April 2018 to 24%
in September 2018.

Draw a LRAS and AD diagram to show the possible long-run impact of this significant
increase in the base interest rate on AD, the price level and real output for Turkey.

(Total for Question 10 = 4 marks)
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( )

11 Itis estimated that the marginal propensity to consume for Spain is 0.72. In
January 2018 the Spanish Government announced an €18 billion investment on
national defence.

Calculate the final increase in GDP resulting from this €18 billion investment.
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12

SECTION C

Study Figures 1 and 2 and Extracts A and B in the Source Booklet before answering
Question 12.

Write your answers in the space provided on the following pages.

(a) Define the term ‘Consumption’ (Extract A, line 9).
(b) With reference to Figure 1, explain the term ‘real GDP growth rate’

(c) With reference to Extract A, analyse one possible macroeconomic impact of the
increase in house prices on the Canadian economy.

(d) With reference to Extract B, examine the likely impact of government policies to
increase wellbeing.

(e) Using the information in Figure 2 and Extract A, discuss the impact of low
investment on Canada’s economy.
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12 (a) Define the term ‘Consumption’ (Extract A, line 9).
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(b) With reference to Figure 1, explain the term ‘real GDP growth rate’
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(c) With reference to Extract A, analyse one possible macroeconomic impact of the
increase in house prices on the Canadian economy.

R
KRS,
LRI,
SRR
LR,

5
< %
S
S
SO
QN

K
SO
Bostaiatet
QS 0
O
‘OOQAQA)‘Q
TS
f” <
SRS
RETHX
Dotereiet

o
IR

.:.
1% 1%
SEFK
ot el

<

gvege

Xl
%

oS o
CRLLH XXXRRE

DeSetodes
S
ootaletotatetetedetetotes

OGO
SHRAKS

$9%%%
12000 %%

%

&
SRR
5%

%

K
KIS
EE

i
%
boseze '::
(038 = 1%
0N = 5 18
IR
LGRS
dotemole%
SIS

2
SR8

RS
SRRKK

HLRIK:



AN
SRRRHS
ofosetetetels
LKARRE
SRS
KRS

I
258

Potate!

L
KR

LS

<

<
X
2

%
<

K
<X
o

be%e%e

<
X5
25
oS
L2
&5

%

7
By
XKL

<
%
P
e
=3

<
Y,
"%

A
hoteSetotete
NS '
KA TR A
AR

%5
20
SRR

KA

B

10.0.0.0.0°¢
SRR
RERRRRN
X XA KA

o
K5
55
CKKS

'
000
RS

S

0o

<
X
ol

K55

X

.::’

%’
S

X

¥
Sie%ete!
Stetetels

=
=
e
SONCS
%
(>

%
&

o%
o
Dos-~fole

K08
Qs
3
CX
X
<

XX
(7
()]

SEORREERS
KA
N
M
55

7t
NG

%
5
N

2

%%
b
92

S

5
5
Sk
T
ptetetels!

40X
RS

ORI

0%
000
XK
5

G
5
S5
Ko

<5

2%
S
2K

G0
%0y

0%

o%
%

6K
230500030
Sodetetetele!
2L
<5
CRLRRLRRIRES,

KRS
LXR
B!
LK

%%

<
o

<
%
25
e
%
&5

A
s
X
453
Yote%s

X
5
LR
%
2o

<
%
25
So%s
55
s

%

SO
555
CRGKS
AL
55
5505

~
0o
o%e%
S
LI5S
R

QK
SRS
RS
X

o%

R
folotoseses

0992

S

Batatote!
020!

QS
OREGLIRGL
XS
%%
b0
XEHRRLK
RS

. J

R YA R0 10 00 0 .
Turn over »
P 6 0 6 7 2 R A 0 1 3 2 8 urnove



(d) With reference to Extract B, examine the likely impact of government policies to
increase wellbeing.
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(e) Using the information in Figure 2 and Extract A, discuss the impact of low
investment on Canada’s economy.
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(Total for Question 12 = 34 marks)

TOTAL FOR SECTION C = 34 MARKS
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SECTIOND
Answer ONE question from this section.

Write your answer in the space provided.

EITHER

13

OR

14

India’s GNI per capita was Rs 45 326 in 2010 and grew rapidly to Rs 125 089 by 2017.
A study conducted by the World Health Organisation identified that nine out of the
ten most polluted cities in the world are located in India.

Evaluate the costs of rapid economic growth on an economy of your choice.

(Total for Question 13 = 20 marks)

In 2018 the Chinese Government increased the amount an individual could earn
before paying tax in an attempt to raise aggregate demand.

Evaluate the impact of reflationary demand-side policies on an economy of your
choice.

(Total for Question 14 = 20 marks)
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Chosen question number: Question 13 [] Question 14 []

Write your answer here:
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Sources for use with Section C.
The Canadian economy
Figure 1 Quarterly real GDP growth rate, quarter 1 2013 - quarter 2 2018
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Figure 2 Business investment as a share of GDP in selected countries of the OECD
(Organisation for Economic Co-operation and Development), 2015-2017
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Extract A The economic climate

After a downturn in 2016, the Canadian economy experienced sustained economic

growth. This was partly caused by a significant increase in the demand for exports.

Canadian oil and petrol exports grew by 42% compared with 2016. Car exports increased

by 3.8%. Most other exports grew by an average of 1%. Much of the increase in foreign 5
demand came from the European Union as its economies started to strengthen. The

increase in exports caused an improvement on the current account on the balance of
payments. The exchange rate of the Canadian dollar also increased.

Consumption also rose during 2017. This was mainly the result of two factors:

+ the unemployment rate fell from 7% in 2016 to 5.8% in 2017 10
« average house prices increased by 5.7% in 2017.

However, business investment remains relatively low. In particular, there has been little
investment in new machinery and equipment. This has a negative impact on productivity
because capital equipment per worker in Canada is very low by international standards.

Extract B Government policies to increase wellbeing

In 2018 the Canadian Government announced its continued commitment to improving

the wellbeing of the population. The Government identified the need for increased

government spending on wellbeing, particularly for those people who have a very low

income. For low-income households the lack of access to basic necessities, such as food 5
and housing, can lead to both mental and physical health problems. Around one in ten

people live in low-income households. The 2.7 million people living on a low income do

not have enough food, which causes health problems. This often prevents them from

working or attending school.

The Government has increased the financial benefits to low-income households and to 10
people who are unable to work. There has also been an increase in funding for low-cost
housing, healthcare and better quality drinking water.
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